2006-2007 Potential Maize Contract -- MCHINJI

Payout approximation worksheet

Rainfall is measured at Mchinji weather station.

Rainfall amounts may differ from those received at individual fields.

MAXIMUM Phase 0:
PAYOUT 3228.17 If there is less than or equal to 25mm of rain in each and every one
] ) Kwacha to receive of the following 10-day periods, the payout is the full amount: 11th-
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5. Note that rainfall is measured in 10 day periods, and capped at 60mm per period. RO R R R R R etven
Most years, farmers will not receive a payout. Farmers will not receive more than the maximum payout.
Germination phase: Insurance payout by rainfall Tasseling phase: Insurance payout by rainfall Maturation phase: Insurance payout by rainfall
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